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PART — A / 9/ — Marks / 37k : 40

Note : Attempt all the twenty questions. Each question carrtes 2 marks. Answer should
not exceed 15 words.

e : TR R0 U & STv AN Udw UsT & T R ofp MuiE TowaT 9u g
o ot € g afed :

1 What do you understand by Hit ratio ?

Hit ratio ¥ o9 & 995K & ¢ ¥dEd)

2 What is meant by Locality of references ?
Locality of references @1 &1 o1 & ?

3  What is an interrupt ?
Interrupt w71 & 7

ntd.. 10-1] 3 [Contd...
Ty o R



4 What is the function of scheduler ?

Scheduler & =1 &/ & 7

What are the main purposes of a system call ?.

5
e @ % 7el Sy am 4 ¥ 7

6  What is data hiding in C++ ?

C++ N data hiding F & ?

4 [Contd... i 10 -
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7 What s Swapping ?

Swapping T & ?

8 What is the main difference between call by reference and call by value ?

Call by value 9 Call by reference ¥ &g afax ®n & 7

9  Using pointer declaration, how can we access (i, j)th element of an array A ?

Pointer 1 FWHE ® §C array A & (i, j) oG9 B 69 access [6AT S Wl & 7

10-1] 5 [Contd...
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10

Explain alpha and beta testing.

ueel TE A TRE amsEd

i1

Write down the phases of Adaptive software development life cycle
Adaptive software development M= @H T phases B fatEm)

12

Deﬁne Black Box testing.

Black Box testing @l gf v ﬂ%’fﬁﬂQl

10-1]
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13 Convert in 1o POSTFIX (= has higher precedence than +).
POSTFIX # uwf@fda #ifvie (» & afga + § s )
(i) x+y*z

(if) x*y+:z

14 Define Hashing.
Hashing &1 ufxaiye #ifrgi

15 Explain data structure operations briefly.

T TFET AT W €AY ¥ g

10-1] 7
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What do you understand by binary searching technique ?

arEgAd wRiT g @ o9 @’ GEEd &

v

17

What is a Raster scan Device 7

Raster scan Device &1 & 7

18

Write the transformation sequence for rotating an object about point (x,, ¥_) on the object.

R object & @l W fud &g (x,, ¥,) F SHEK rotation @I transformation sequence
faftaw

{Contd...

101} 8
A O B

e
*




19 What do you understand by rigid body transformation ?

R 9E gaerRaeT ¥ ong =@ guge o ?

i

E;_ 20 Suppose that x, y, z

are integer variables which are assigned the values 2, 3 and 4
respectively then evaluate.

x*=—2*(y+z)|3

OEIRE x, y, z 3T ageae & gu1 3% wam 2, 3 wd 4 ot R ™ ¥ oo
T DI

x#=-2%(y+z)[3

,-_____ 10 -1] 9 [Contd.;.
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PART — B / ¥F1 — 4 Marks / 3% : 60
Note : Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed 50 words.

T 93 g ¥ oA SRR uiw wew b« o treif ¥1osE we =l
it w8 B IRy

What are the functions of Loader ? Explain in brief.

21
e % e T E 7 udy ¥ aeEd |

Explain four basic tasks that macro instruction processor must perform.

22
Macro instruction processor & @ R S el TR HER caugki e al

[Contd.. '  10-

10-1] 10
| 0 0 1



e

e

mtd...

L

23

What arc the scheduling criteria for CPU scheduling ?

CPU scheduling & scheduling criteria @m & ?

24 Write recursive algorithm for pre-order traversal of Binary Search Tree.

Binary Search Tree % pre-order traversal & T recursive weiifgm fird

10-1]
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25 What do you mean by Friend function ?
Friend function ¥ Teh1 @1 arad & 7
26 Differentiate between varification and validation.

Varification T Validation § oy W iRy

10 -1 | 12
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27 What are the phases of unified process in an incremental model ? Explam briefly.

Toied Aled ¥ gPieEs TRE B b g8 ¥ e

L 28  Write the algorithm to insert the node, in the linked list, after the node pointed to by P,

The node to be inserted is pointer to by '¢"

et O [F—[ A —{ _T—,

'. q

®—’:E|—,,|ﬂ i

Node has the structure | Data |Next | Data is value

Stored and NEXT is address of next node.
ntd... 10-1] 13 [Contd...
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=1 linked list ¥ pointer '»' &1 & node F IR node S & fog TEiey fae

TR WE AW A ¢ B UERE E

flcad@—»l_ﬁ—ﬁ_ﬂ—i(LIH T3,
®q {1 T v

Next ?TEH

. Hi® W G 3 YER | Data
Data §ufed 99 T NEXT & Node &% address # Wefdfd @tar & |

10-1] 14 [Contd...
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29  Explain the functions of PCB (Process Control Block).
PCB (Process Control Block) & &Rl uwgngd |

30 Explain the technique for rendering a plane using Phong's shading model.

Phong shading model @i Te@e1 § @7 YERiE (rendering a plane) & & fafr TasmEa )

"

ontd... 10-1] 15 [Contd...
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31

Derive the equations for shear operatson, in 2D, along X-Axis.

2D & X-Axis % @4 shear operation ! equations (weferTon) o @Y |

32  Describe various types of Flat panel display.

e Ta Raw & bt g @ au B

[Contd...
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PART — C / W — & Marks / 3= : 100

Attempt any 5 questions. Each question carrics 20 marks. Answer should not exceed

Note :
200 words.

AE aﬁéﬁi‘ruuﬁaﬁﬁﬁi‘nmuwﬁaﬁm?o@iﬂi'%{ﬂﬁ’(ﬂ%tﬁﬂ'{aoos@é
oy & B A

33 Explain Banker's algorithm for deadlock avoidance.

mm%mmﬁmﬁw@t
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200 tracks is currently serving a request for track

Suppose the moving head disk with
for track 125. 1f the queue of requests is kept in

143 and has just finished a request
FIFO order.

86, 147, 91, 177, o4, 150;

What is the total head movement for the followi
() FCFS (i) SSTF and (i) C-SCAN. :
Wﬁﬁﬂ%ﬁﬂﬁ%ﬁﬁ%ﬁ%’éﬂZOOzﬁ%l?ﬁqﬁff?ﬁi 143 WX %= T @ SE @l

af 3% 125 @A fean ¥

afy FIFO % o@R queue &1 & frn T PrdEw ww 86, 147, 91, 177, 94, 150
% fu PreAfafiad scheduling scheme ¥ %1 F« movement @l TN ? :
() FCFS (i) SSTF and (i} C-SCAN.

ng scheduling schemes 7

10-1] 20 [Contd... 10
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35 (a) Derive an expression for finding the address of the element at the intersection of
ih row and j column in a matsix A [ 1..m, ] n}]. Use row major order technique.

{b) Draw binary search tree when the elements arrive in the following order

10, 9, 15, 39, 20, 8, 6, 4,19, 22, 7.
(&) el matrix A 1.m, i..n] ® " row F&A it column X Rerg arama (element)

1 ual (address) S XA b f@C expression I H¥ | gaE WU row major order
frfr w1 WAt WY

@ P wa A v gemelf % T binary search tree ¥IEY -
10, 9, 15, 39, 20, 8, 6, 4, 19, 22, 7.

10-1] | 22 [Contd...
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Define the following terms, with an example each :

@ (1) Graph (i) Multigraph (it}) Complete graph (iv) Bipartile graph (v) Spanning tree
(@) waretwr afkd FeAilas @ o e -
(i) I (i) -G (i) Complete TTH (iv) Bipartite 9% (v) Spanning tree
(b) Traverse the following tree using Depth First Search :
(@) Depth First Search & wewar § P Tree @ Traverse Hw
10-1] 24 [Contd...
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38

Consider an organisation employing Managers, Scientists, office boys and labourers.
Educational qualifications are to be recorded for managers, scientists and office boys only.
Create a class EDUQUAL having data members indicating degree (Sr. Secondary / Bachelor

/ Master / Doctoral) and name of the board or university. Create a class for the employees of -
the organisation and using inheritance out put the name of the employee, highest degree, name
of the Board / University and the serial number of the employee in each category.

UE organisation AT, @igtew, oifttew @i Wl Fx B Pgfm el ¥ qwn daw
ey, aEe au oiffee S @1 fabe drad S B ¥

*@% fre us w@ EDUQUAL g R feft (S Secondary / Bachelor / Master
/ Doctoral) @1 Board / University @1 M i @ gl data members B
Organisation &% employees (eard) ¥ faw w@ class (ORT) SWIQ TAT inheritance
IEERT B 3U W% a1 (category) ¥ HAT &1 AW, sTaay fsll, Board / University

H A, HEETd S w9 GE (serial number) gaTd1

puta s WCHUR

——

i
i
3
f
1
I

o

: —_—

i
f
!
i
i
i
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Explain Bresenham's line drawing algorithm.

Wﬁsﬁg@amﬁﬂnqwsﬁl

:
i
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